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‘Which of the following dravings shows a bolt in a threaded blind hole drawn to AS 1100
standard?
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A standard hexagonal nut is to be made to suit an M25 x 2 bolt 4

Sketeh a pictorial view of the nut blank (aole drilled but no thread) at twice full
size. Appropriately dimension the distance across the flats, the thickness of tae:
nut and the diameter of the dilled hole.
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Which drawing shows the correct AS 1100 standard representation of a @10

non-structural bolt head?
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image7.png
Draw a fully sectioned orthogonal front view of the ‘cable tensioner’ parts
shown when viewed from direction A.

‘The parts are to be fully assembled and drawn to a scale of 3: 1

Al dimensions in millimetres
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‘The diagram shows a bracket folded from a single strip of stainless steel.

R205
R125

If the measurement is taken along the neutral axis, what are the two radii needed to
calculate the length of strip required to make the bracket?

(A) 12.5and 30 Length oF 5.(.',, = z/sm.cxg +ees)

16.5 and 30

(C) 205 and 30
(D) 302nd30
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Using a seale of 122 draw, using third anglo projection, a top view and
sectional front view of the ceilng bracket. Dimension the PCR.ja
diameter, the length and width ofthe base, and the thickness of the thin
web.
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An exploded pictorial drawing of a brake cable connecting piece is given below. Using the :
information given draw an assembled front view to a scale of 2: 1 when viewed in the dirsction A,
Position the bolt so that 7.5 mm of thread can be seen. N
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Make an assembled orthogonal drawing of the' small vice showing a sectioned front view when

viewed in the direction of the arrow. Add main dimensions.
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Complete a full sized orthogonal sketch of the assembled stab axle shown. Draw a half section front
view when viewed in the direction of the arrow and right side view.

Stub-axle assembly

housing Stub axle

FRONT 250
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Draw a fully sectioned orthogonal front view of the ‘cable tensioner’ parts shown when
viewed from direction A.

The parts are to be fully assembled and drawn to ascale of 3 : 1.
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All dimensions in millimetres
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“The pictoriel drawing shows shape and size deails of 0 M20 x 2
hexagonal bolt

Use a CAD program to draw s front view of the boli. Use a scale of 11

Use a CAD program 1o al50 draw a special hexagonal nut having.
dimensions of 20 AF and s height of 10 mm, assembled onta the bolt so
that there is 2 space of 80 m between the nut and the bolt head. 1f you
do not have access t0 a CAD program, use instruments

H20x2
40 FULLTHREAD
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